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1k itk R B 1t FEE R Repe
7 R 79 HERX 7 BIER 79 BUES
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo [£3] INT -1 -50 [£3] INT -50
2 2] ¢ [£3] 4S +1 650 [£3] 6S -1 -100 13
3 panyiic] [£3] 4H = 420 [£3] 4H = 420
4 =] Jris] INT +1 -120 Jris] 3NT -1 100 6
5 2] ¢ Jri] 3S -1 50 [£3] 5H -1 -100 4
6 panyiic] R 3NT +2 -660 Jris] 3NT +2 -660
7 =] 1t 3NT +1 630 [£3] 4S = 620
8 NTo Jri] 4S +1 -450 [£3] 5Hx -3 -500 2
9O | HKAL i1t 4S +1 450 1t 4S +1 450
10 | N8B [£3] 2S -1 -100 R 2C = -90
11 | N 1t 3NT = 400 [£3] 3NT -2 -100 11
12 | @it [£3] 4S +1 650 [£3] 4S +1 650
DATUM%it L
BEERHR EMER r. S ] 30 6
7K /BRI S 9 SoR/BhER -21 ait 30 6
2ohiE /R = 21 BE/DEE Eh3R -9 V.P. 16.37 | 3.63
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo Jris] 2S -1 50 [£3] INT -1 -50 3
2 2] d [£3] 6S -1 -100 [£3] 4S +1 650 13
3 panyiic] 1t 4H = 420 1t 4H = 420
4 =] Jris] INT +1 -120 Jris] 3NT -1 100 6
5 2] x 3S = -140 [£3] 5H -1 -100 1
6 panyiic] Jris] 3NT +1 -630 Jris] 3NT +1 -630
4 =] 1t 3NT +1 630 [£3] 4S +1 650 1
8 NTo Jri] 4Sx +1 -690 Jri] 4S +1 -450 6
O | &AL i1t 4S = 420 1t 4S +1 450 1
10 | N8B x 2C +1 -110 x 2NT -2 200 7
11 | N [£3] 3NT +1 430 1t 3NT = 400 1
12 | @it [£3] 58S = 650 [£3] 4S +1 650
DATUM#:it T
I 4ERE RliES Y. X+ 4 35
{AlsEEN/ XN -17 fR=/E5E 21 ait 4 35
ODER/ZXE 21 B2 2k 17 V.P. 244 | 17.56
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& aEX 7 - Bl & B 7 - IR
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo [£3] INT = 90 x 2C = -90 5
2 2] d [£3] 4S +1 650 1t 5C +1 620 1
3 panyiic] [£3] 4H = 420 [£3] 4H = 420
4 |wsl & |onT | = | 120 &= | anT | -1 | 100 6
5 2] d Jris] 4Sx -2 300 x 4Sx -1 100 5
6 panyiic] Jris] 3NT +1 -630 Jris] 3NT +1 -630
7 =] [£3] 4S -1 -100 [£3] 4S = 620 12
8 NTo Jri] 4S +1 -450 Jri] 4S = -420 1
O | &AL i1t 4S +1 450 1t 4S +1 450
10 | N8B [£3] 2S -2 -200 [£3] 2S -1 -100 3
11 | N 1t 3NT +1 430 [£3] 3NT -1 -50 10
12 | @it [£3] 58S = 650 [£3] 4S +1 650
DATUM#:it B
e St I HETts Y. X+ 21 | 22
F&E/1RE 3 RTR/EKIE 3 ait 21 22
/AR 3 mx/agl -3 | v | oes 1ose




SBMEI FafhRRERERE (5B—uh)

¥ 3% %4 5 201443 H22H
4 igiEgth ] VS 7 tkigrhig
= 1=
[E2N=TIPA b7 NS TR KighE [E2N=TIPA
it . Fe X . £H it . 2R IR © RKFREF
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |wEl & | aNT | +1 | 120 | & | INT | +2 | 150 1
2 |&| & 55 | = | 650 | 7 6S | -1 | -100 | 13
3 |&mAEAl & | 4H | = | 420 | 4t | 40 | = | 420
4 |wa|l @& | sNT | -1 | 200 | 7 | 3NT | = | -600 | 12
5 |Eib| & 3s = | -140 | & 4Ss -1 50 5
6 |&Hm| zx | 3¢ | +2 | 1250 | & | 3NT | +2 | 660 | 11
7 || @ | 4s | = | 620 | 4t | 3NT | +1 | 630
s |wxl|l & | 45 | = | 420 & | 45 | +1 | 450 | 1
9O | HKAL i1t 4S +1 450 1t 4S +1 450
10 |l *® 2c | -1 | 100 | & 2s | 2 | 200 7
11 |wE|l @ | sNT | -2 | 50 | 4t | 3NT | -2 | -50
12 |@dt]l & | 45 | +2 | 680 | 8 | 4s | = | 620 | 2
DATUM%iit 5 E
[E3f=3Iba) bkigrhig v 5 ] 46 6
FH8i/Z=RK 22 258/ KR -26 ait 46 6
SKFFEAIEE 26 ZH/E% 22 V.P. 18.78 | 1.22
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |wxl m | anT| 2] 50l & | 2¢c | = | 90| 1
> |mdtl 8 | 4s | +1 | eso | & | 4s | +1 | 650
3 |zE| 4t | aH | +1 | 450 | & | 4 | = | 420 | 1
4 |wsl & |anT| 3| 30| % [ 3NT| -2 | 100 ] 5
5 |gdt| 7 | 4s | 2 | 100 | & | 4sx | -1 | 100
6 |zmm| /@ | aNT | +2 | 660 | 7 | 3NT | +1 | -630 1
7 |was| & | 4s | = | 620 | & | 4s | = | 620
8 |wx| & | 4s | +2 | 480 | 7 | 4sx | +1 | 690 | 5
o |mm| 4t | 4s | = | 420 | ® | 4s | +1 | 450 1
10 |wa| & | 2s | -2 | -200| 4t | 25 | -1 | -100
11 |wx| 4 | aNnT | = | 400 ) 4t | 4 | -2 | 50 | 10
12 |t B | 4s | +1 | eso | B | 4s | +1 | 650
DATUM% it L
R e I"'&F& ¥ 3+ ] 22 | 2
ERIR/ XIS 19 SRIF =/} CANRN -3 ait 22 2
BRI/ EE 3 {R/DLT/H%E -19 V.P. 15.58 | 4.42




